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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.2 Potential and Kinetic [99098]
	D101459

	2
	B  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.2 Potential and Kinetic [99098]
	D101462

	3
	C  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.2 Potential and Kinetic [99098]
	D59597

	4
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	U55901

	5
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	U55958

	6
	A  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	U56003

	7
	B  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D57535

	8
	C  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D103492

	9
	B  
	Hard  
	PS: Energy, Forces in Nature  
	SPI 0607.10.1 Types of Potential Energy [99097]
	D110400

	10
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D52829

	11
	B  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D55480

	12
	D  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D60814

	13
	A  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D66306

	14
	A  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D84392

	15
	C  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D84395

	16
	D  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D84470

	17
	B  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D103491

	18
	D  
	Moderate  
	PS: Energy, Forces in Nature  
	SPI 0607.10.3 Energy Transformation [99099]
	D103494
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6th Grade Science TCAP Blitz April 2-April 6 week 5
	Question 1 of 18

	What units are used to measure kinetic energy?

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	feet

	[image: image2.wmf]  
	B.
	grams

	[image: image3.wmf]  
	C.
	joules

	[image: image4.wmf]  
	D.
	metes

	 


	Question 2 of 18

	Because there is no specific direction to energy, it is said to be ____________.

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	vector

	[image: image6.wmf]  
	B.
	scalar

	[image: image7.wmf]  
	C.
	velocity

	[image: image8.wmf]  
	D.
	a decelerator

	 


	Question 3 of 18

	When you drop a rubber ball from a high place, it will eventually stop bouncing. On paper explain why the ball will eventually quit bouncing.

When a pendulum stops swaying and is at rest, has it lost any energy? 

	 
	 
	 
	 
	 

	[image: image9.wmf]  
	A.
	Yes, no movement means no energy.

	[image: image10.wmf]  
	B.
	Yes, as the pendulum slows, it loses energy.

	[image: image11.wmf]  
	C.
	No, it possesses potential energy.

	[image: image12.wmf]  
	D.
	No, it never had any energy to lose.
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	Which of the following structures converts light energy into chemical energy? 

	 
	 
	 
	 
	 

	[image: image13.wmf]  
	A.
	mitochondria 

	[image: image14.wmf]  
	B.
	ribosomes 

	[image: image15.wmf]  
	C.
	chloroplasts 

	[image: image16.wmf]  
	D.
	vacuoles 

	 


	Question 5 of 18

	Plants use chlorophyll to carry out the process of photosynthesis. Where is chlorophyll located in plant cells? 

	 
	 
	 
	 
	 

	[image: image17.wmf]  
	A.
	cell walls 

	[image: image18.wmf]  
	B.
	ribosomes 

	[image: image19.wmf]  
	C.
	chloroplasts 

	[image: image20.wmf]  
	D.
	mitochondria 
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	Look at this diagram. 

[image: image21.png]



What organelle is represented by the number 3? 

	 
	 
	 
	 
	 

	[image: image22.wmf]  
	A.
	chloroplast 

	[image: image23.wmf]  
	B.
	lysosome 

	[image: image24.wmf]  
	C.
	mitochondria 

	[image: image25.wmf]  
	D.
	ribosome 

	 


	Question 7 of 18

	On paper, explain how a chemical change can result in the release of heat energy.

Which of the following best describes what is happening in the picture? 

[image: image26.png]




	 
	 
	 
	 
	 

	[image: image27.wmf]  
	A.
	mechanical energy

	[image: image28.wmf]  
	B.
	chemical energy

	[image: image29.wmf]  
	C.
	sound frequency

	[image: image30.wmf]  
	D.
	heat transfer

	 


	Question 8 of 18

	It takes 50 Newtons of force to rake the leaves. They are raked for a total distance of 10 meters. How much work has been done?

	 
	 
	 
	 
	 

	[image: image31.wmf]  
	A.
	5 joules

	[image: image32.wmf]  
	B.
	50 joules

	[image: image33.wmf]  
	C.
	500 joules

	[image: image34.wmf]  
	D.
	5000 joules

	 


	Question 9 of 18

	What type of energy is present in a lump of coal?

	 
	 
	 
	 
	 

	[image: image35.wmf]  
	A.
	biological potential energy

	[image: image36.wmf]  
	B.
	chemical potential energy

	[image: image37.wmf]  
	C.
	elastic potential energy

	[image: image38.wmf]  
	D.
	gravitational potential energy

	 


	Question 10 of 18

	When a flashlight shines into the air, some of the energy from the light is transferred to the air particles. This transfer of energy carried by light waves to particles of matter is called

	 
	 
	 
	 
	 

	[image: image39.wmf]  
	A.
	reflection.

	[image: image40.wmf]  
	B.
	refraction.

	[image: image41.wmf]  
	C.
	absorption.

	[image: image42.wmf]  
	D.
	caoncentration.

	 


	Question 11 of 18

	When a person walks into the water, it appears that their feet are separated from their legs. This occurs because the light waves bend as they pass from the air and into the water. This is an example of 

	 
	 
	 
	 
	 

	[image: image43.wmf]  
	A.
	reflection of light.

	[image: image44.wmf]  
	B.
	refraction of light.

	[image: image45.wmf]  
	C.
	absorption of light.

	[image: image46.wmf]  
	D.
	concentration of light.

	 


	Question 12 of 18

	Rainbows are formed when sunlight (white light) is separated into visible colors of the spectrum. The white light hits water droplets, is bent back, and separated into different colors depending on wavelengths. Rainbows are a result of 

	 
	 
	 
	 
	 

	[image: image47.wmf]  
	A.
	light absorption.

	[image: image48.wmf]  
	B.
	light reflection.

	[image: image49.wmf]  
	C.
	light concentration.

	[image: image50.wmf]  
	D.
	light refraction.

	 


	Question 13 of 18

	[image: image51.png]



When a person looks into a mirror in a well lit room and sees an image of himself, this is an example of 

	 
	 
	 
	 
	 

	[image: image52.wmf]  
	A.
	reflection of light.

	[image: image53.wmf]  
	B.
	refraction of light.

	[image: image54.wmf]  
	C.
	absorption of light.

	[image: image55.wmf]  
	D.
	concentration of light.

	 


	Question 14 of 18

	Use this diagram to answer the question.

[image: image56.png]Q

White Screen





	 

	The white screen glows when rays from the bulb strike on the CD. Which is the correct explanation for this observation?

	 
	 
	 
	 
	 

	[image: image57.wmf]  
	A.
	CD reflects light.

	[image: image58.wmf]  
	B.
	CD refracts light.

	[image: image59.wmf]  
	C.
	CD absorbs light.

	[image: image60.wmf]  
	D.
	CD spreads light.

	 


	Question 15 of 18

	A ball absorbs all light rays incident on it. What color is the ball?

	 
	 
	 
	 
	 

	[image: image61.wmf]  
	A.
	red

	[image: image62.wmf]  
	B.
	violet

	[image: image63.wmf]  
	C.
	black 

	[image: image64.wmf]  
	D.
	white

	 


	Question 16 of 18

	The fish appears above its original position in the given diagram.
[image: image65.png]




	 

	Which is the correct explanation of this observation?

	 
	 
	 
	 
	 

	[image: image66.wmf]  
	A.
	Water moves at the surface. 

	[image: image67.wmf]  
	B.
	Air moves at the air-water edge.

	[image: image68.wmf]  
	C.
	Fish does not remain still in the water.

	[image: image69.wmf]  
	D.
	Light bends as it travels from water to air. 

	 


	Question 17 of 18

	The force applied to an object multiplied by the distance the object travels best defines ___________.

	 
	 
	 
	 
	 

	[image: image70.wmf]  
	A.
	energy

	[image: image71.wmf]  
	B.
	work

	[image: image72.wmf]  
	C.
	mass

	[image: image73.wmf]  
	D.
	torque

	 


	Question 18 of 18

	What SI units are used to measure work?

	 
	 
	 
	 
	 

	[image: image74.wmf]  
	A.
	watts

	[image: image75.wmf]  
	B.
	Newtons

	[image: image76.wmf]  
	C.
	parsecs

	[image: image77.wmf]  
	D.
	joules
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